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Name

sesee LOOK FOR “SUM” DIFFERENC

%Show each problem on the place-value chart. Solve.

1. 46 + 3.84 + 15.07 =

Tens

Ones

Tenths

Hundredths

3. 91 -37=___

Ones

Tenths

4. 42-18=

Ones

Tenths

%\Find the sum or difference. |

6. 0.74
+ 0.08

10. 7.8
-2.5

Real World Connection

Solve.

7. 19.6
+ 4.7

11. 5.63

- 2.32

2. 36.8 +4.06 + 14.75 =

Tens | Ones

Tenths

Hundredths

5. 18.62 -12.8 =
Tens | Ones | Tenths | Hundredths
8. 23.82 9. 295
+ 18.56 14.86
+ 9.09
12. 42.06 13. 72.45
—3.95 —34.68

14. A package of turkey slices sells for $4.68 each
or 2 packages for $9.04. Which is the better buy?
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Look for “Sum” Difference

Answer Key

1.-5. Check students’ work.
23.51

55.61

54

2.4

5.82

0.82

24.3

42.38

26.90

5.3

. 3.31

. 38.11

. 37.77

. 2 packages for $9.04
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\’Q Meet your state standards with free blackline
masters and links to other materials at

www.HarcourtAchieve.com/AchievementZone.
Click Steck-Vaughn Standards.





